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Attempt all questions.
All questions carry equal marks.

gyt ye afE &
gt g & F AT

1. (a) Explain the concept of “Human Resource Mana-
gement”. How is it important to both individuals
and organizations?

e YA YeEA 1 Geheddl Sl HERRT | TR

'wﬁﬁq}amaﬁé‘mﬂ%ﬁ@ﬁ%? 7
P.T.O.
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(b)

(2)

(b)

2. (a)

2

Define ‘“Workforce Diversity”. What steps or
measures would you suggest to effectively manage
workforce diversity in an organization?

‘wue fafggar’ & oiafi@ Fifsw) e o
e ¥ wdad fafagdl & awEymet e %

fau fo el @1 Ul & gEE e 8
Or (3rgam)
Discuss the role of HR manager in building up

core competencies and creating competitive
advantage.

& q@arsl H oA ¥ iR wfawates @w %
e & ¥ AFE GOeE YeUs Sl SR o
i T | 7
Define ‘empowerment’ and ‘empowering organi-
nzation’. Explain the common barriers to em-
ployee empowerment in business organizations.

‘YUK Td  ESA T GYE oA W
i ifSe | =maafas dmeal § e
VYR & W 2T GHEET | 8

What are the major problems of interview as a
selection tool? How can interview be made more

effective?
T SO ®Y H OWEHEER S o g

TR ¥ ? WER W R YER afus yare

ST ST GeRar § 2 7

3 | 1203

(b) Expain the concept of job evaluation. How is job

(b)

3. (a)

(b)

(a)

evaluation different from job analysis?

w1 HeaieT @ dEedl WHERY | HE e

fere SR w1 faweraor @ fia 87 8
Or (3A4dT)

Briefly explain the quantitative and qualitative
aspects of human resource planning.

IECERESI R IR EDISElC ol oy oo G 21l I [ G
TEqEl W WaY ¥ gHET | 7
Define orientation and discuss its importance for
the organization and the employees.

SHEH B iy sifSe R d@weT aor
FHAME! & T 3Tt Aewn =1 fagaT SifaT 8

Distinguish between training and development.
How will you determine the training needs of a
manufacturing enterprise?

Wmaﬁmﬁmaﬁmﬂﬁmﬁﬁmaﬁ

 WTEr ravgEarel S Y A frufftg | ? 7

Write an explanatory note on any two techniques
of Management Development.

yaud faw@ =t fF @ el | areas
femuft fafaw | 8
' Or (3T<a)

What do you understand. by Potential appraisal?
How is it different from Performance appraisal?

P. T.O.
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- 5 1203
qeIfad qedie ¥ 3 e T2 W LT (b) Explain the- applications of Human Resource
LRIET] AR o= 22 o Information System (HRIS) in a modern

(b) “Counselling of employees results in reducing CHEUIEHT ‘
conflict, frustration and stress.” Do you agree? UHE HETYT I Jet o Teh AT IS o
Give reasons in support of your answer. 31'1[3@"1 TR | 8

“FHEAl B WEY < ¥ ", Fn aur o
FY AT T’ FAT AT WEEA 7 TN IR ¥ 5. Write detailed notes on any two of the following:
T ¥ SR G | 8 (a) HR Audit

(b) Importance of collective bargaining
4. (a) Discuss the merits and limitations of seniority

based promotion and merit based promotion. (c) Employee Stock Option Plan

aftsar eil@ 9qr=fa q drgar s (d) 360 degree appraisal
R & A 9 gl o e HfT | 7 (e) On thg job training methods.

(b) Define social security and explain its significance . ¥ @ e @ W fawga feunht fafae:

in the context of Indian working conditions.

TSt GRET A G FfNT aar 3w W@
® WA ufferfadl & d@ed ¥ swer med

(3) wra GaTeA SHeher

(b) WTfesh WeaTS 1 wER

(c) ESOP
THETEY | 8 -
d) 360° HATh
Or (31¥an) ' ) o
(2) What does the concept of compensation imply? (e) e W s fafe ) 7ox2
W-ha.t factors should be considered while deter- Or (319e)
mining the financial compensation of employees
of an enterprise? J Case Study

“'Waaﬁﬁmﬁwﬁﬁa%?ﬁmwzx%

d received promotion to the
. Last year, Mr. Manohar ha : :

T Y anfife gfaqfd fraffm @ = ositfon of Manager of Engineering Department of
f&a aﬁ‘{ail,ﬁ L2IE - ec e g ? 7 Madras Manufacturing Company, a medium sized firm

P.T: O
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producing nuUMErous household products. Manohar
had an electrical engineering degree and had beep
working with the company for about seven years after
graduating from a reputed institute of technology.

Manohar's record as a design engineer was excellent.
He had developed three new products that were being
marketed around the world and was widely respected
for his innovative contributions to the company

recognized for its reputation as the industry leader in

new product research and development. Throughout
his seven years with the Madras Manufacturing
Company, Manohar had kept himself up-to-date in his
field by reading engineering journals and by attending
conferences and workshops. Because of his technical/
engineering experience with the company and his
ability to get along with people, top management felt
very confident in promoting Manohar to the position
of manager of engineering department.

Manohar’s early experience in coordinating the
working of eighteen engineers in the department
proved to be a rea] challenge. He experienced
considerable difficulties being a manager as compared
t0 an engineer. He continued to be very involved with
research and product design and worked very long
hours (sometimes upto twelve hours a day) in order to
keep up his design engineering,

Recently, Manohar was to]q by his boss that he was

admg the lea‘d‘”ShiP to the department that
gement belieyed Was necessary in order to

not provi

7 1203

achieve maximum effectiveness. Manohar also began
to feel pressure from some of the engineers who
likewise believed that he was involved in performing
routine engineering jobs and not managing the
department.

Answer the following questions on the basis of the
above case study:

(a) What is the basic problem confronting Manohar
as a manager? .

(b) Did the management make a mistake in promoting
Manohar to the position of a manager?

(c) What suggestions would you like to make to
improve performance of Manohar as a manager?

TETH AR I, T AEAH AR H FH S
Teelt ¥ onE IdEr & AW Ed B, Y fred o s
TR @ i 9 & s & 9§ W R
@ 1ot T T e it @ feut o

frE AnEAl & fAT 3T A9E §9 § §EE
;T;aq_ FROT HOH T IAE F WMWY F
fom @ § ol g W ufaer & fag
FE & WY YA

i
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¥ WY IAH ACAR/AHAER 9T F FRO q97 Sy
F WY A WA H IR FEfaAd F IR Ieg
Fored & s TR W AR faamr & ves ¥ g
R YE-d A | SIS A6 A6 @ v |

faumm & 18 fvamaet & &l = wwafag =390 %
TE & 39a ot TR & fau awafas g % oo
® | & AVET & GHFY T T6°4F 2 § 3% S
SR W YA g d WY = sk 3awE
fesms # Wit ® ok Tga o= THT 9% S W
® (frdi-fadlt e 12 92 o) aroeit fewe @ifmd &
@R Y @ F g

T € A W OIS WY ¥ w6 aw fawnr
% g IQE A& R U W@ R S 39 YU H OAEAT
o1 o sAfushaw wwesiiear o % faT emavas ©
TR A faem F g aifrawaell § ot g ave
A W AT S FE ff AR 9 5 9T o
 WEY @ F WE W aw Attt e el o
T R | | |
3% Y W & MuR W = 99 & W AR

(a) ¥ou® &k ®7 § FHR F WO FAT AT GHET
¥, - - |

(b) FATE H TUF F U W RIS HOh AT A
T A Tt R 2 | B

(c)m%mﬁlﬁrﬁ%q@hﬁgqnaﬁa;
fe My == wemg 21 9wy ) 3x5
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(b)

Wnaw—wwwmﬁvﬁm%ﬁm@
ST H T, éﬁv—«rwﬁwwé‘rw
BN =iy

Attempt all questions.
Rl UsHl B Ser ¥

All questions carry equal marks. -
qHl usAl B efw @u e ¥

Define previous year. Enumerate the cases
in which income of previous year is taxable
In previous year itself. - 3

a8 A1 I ARCAINT AT | 39 A By
RIS Hive Fed ed 9 J§ S
fer, Tes are o & %X % arg ®l |
Differentiate between assessee and person.
-

FHIETET X Sl & &g Tk Wt Hioid |

Mr. Suresh lives in Hyderabad. He frequently
visits China for business purposes. Using the
information given below about his stay in
India for different previous years, determine
his residential status for AY 2018-19.

5
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flo QI BewmEm & W=y ¥ T A @
IEET 9 IR-IR AT @ g e ¥ o9E
STB AT F Red B aut § @A @ A
<1 T R SE & oY) WX ¥ 2018-19 & fg
Senl ST Reafa @& faEgesr g

Years Stay in India Years Stay in India

L axa # 549 L ARG H uag

(No. of days) (No. of days)

RAT # de RS W wem
2017-18 200 2010-11 83
2016-17 100 2000-10 189
2015-16 92 2008-09 9%
2014-15 0 200708 66
3013-14 84 2006-07 25
2012-13 105 2005-06 52
2011-12 162 2004-05 120

3 P.T.O.



1204

(a)

(c)

OR
HET
Explain the scheme of partial integration of

agricultural income with the total income
for computing tax liability. 3

S B H O B QP o B oAy iy

AT & AR THIHLoT AT &I AT B |

Compute Income Tax liability for AY 2018-19
of Mr. Sachin (age 39 years, a resident
individual) whose total Income is < 3,50,000.

- K

o @fer & a9 2018-19 & T 3T T HT

Y T B, O HA ed I 3,50,000 B 1

(Tep =i STrETEl, IH 39 @)

Mr. Sarthak, an Indian citizen settled in
Netherlands in 1998. He comes to visit India
after a long time during PY 2017-18 on
12.12.2017 and leaves India on 06.04.2018.
He furnishes the following information.

Determine his taxable income for the AY -

2018-19. 3

1204

TR A &% o @R, st a¥ 1998 @
MeXvs § 9@ g ¥ 9gd 999 9% T 9RA
q 9ra= g« 2017-18 & QWA RATH
12.12.2017 ®t arga oM@ ofT R=i®
06.04.2018 3 ¥R B A | I Fr=fiieaa
STHEIRAT g&gd HI1 5 SR 9X o
2018-19 % 1T I HX 2T RN T FHT |

S. No.

HH 9.

(i)

Particulars Amount (%)

= o )
Interest on Indian Bank deposits
pertaining to PY 2017-18 35,000
Y a9 2017-18 F 9™
S ® ST fdr @ e
Dividend from Indian Company
received on 31.03.2018. 68,000

I B @r‘m‘ﬁ SIGIE

feies 31.03.2018 =1
5 P.T.O.
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(iii)

(iv)

Income from agriculture in
Netherlands, received there
during the PY 2017-18.
T a8 2017-18 H exsts
T U FHiW ST
Technical fees received
by him in Netherlands from
Government of India on
15.10.2017.
fa=iies 15.10.2017 & &S
¥ W T = I
TEBIEhl BT e AT
Rental income from house
situated in Netherlands
received in India on
22.12.2017.
fastiep 22.12.2017 =l A
# frewavs | fRaq qH @
ISR

1,45,000

35,500

87,000

(vi)

(vii)

(a)

1204
Gift received from friend 1,25,000
in India on 04.04.2018.
feS% 04.04.2018 & WA
AR T S
He made Donation to PM 25,000

national relief fund during

P.Y.2017-18.

T @Y 2017-18 F AR

SR gUEEE ST e oY §
T Rar

Mr. Dhruv (with 60% hearing impairment-
certified by medical authority) is 55 years
old resident individual and is working as an
assistant manager with STAR Pvt. Ltd. in
Chennai. He furnishes the following
information for the PY 2017-18. Compute his

total income and tax liability for

AY 2018-19.

7 P.T.C),
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fYo ga (60 ARy sm@er & oifaw - Fafee
TIAEHCT &R JHIOR) S 55 auig g e
¥ R T =R wde Rio ¥ Wegs ua-as &
Y H 98 H FHE H W@ T | S PEE a
2017-18 & T Fr=afafaa stemiar uwga
| ITHH! AThed a¥ 2018-19 F W 9%
et o QiR @Y JFaT @ IO R |

S. No. Particulars Amount ()
%.9. =S i R)
(i) Basic Salary 60,000 p.m.
FSEEOA
(iiy Dearness Allowance 20,000 p.m.
(60% forms part of salary -
as per terms of employment
s e (FHERE & A B
ST UX 60 HfRIeT)
(iii) Commission of 8% on turnover 64,000

of T 8,00,000 achieved by
Mr. Dhruv for PY 2017-18.

8

| House rent Allowance

1204

T a9 2017-18 & R o ga amr
% 8,00,000 % eH-ofax & oy
8 Ul 3T HHIT |

Transport Allowance 4,500 p.m.

(Expenses incurred < 1,500 p.m.)

IIAT HT
(Fra ™ == ¥ 1,500/-913)

Conveyance Allowance 3,500 p.m.

(Expenses incurred ¥ 3,000 p.m.)

die-] |l
(Fpar ™ == % 3,000/-7m®)

32,000 p.m.
(Rent paid ¥ 20,000 p.m.)

ECEMETE | Al

L)
(feexm 2= % 20,000/-711%)

9 P.T.O.
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(vir) His employer provides him an 20,000 (ix) 13% interest credited to his 39,000
imterest free loan on 30,.08.2017 RPF a/cduring PY 2017-18

to purchase Air Conditioner .

According to termas of repayment e BT ad 2017-18 % =171

of loan, Dhruv has to pay ¥ 1,000 p.m. e wifgrg fafer e # foryg
starting from November, 2017, 15 yferarer 29 =9157 |
(SBI lending rate 1 10 %)
L _ (x) Lunch Allowance 2,000 p.m.
aeh e o aeE fasie |
30.08,2017 @l &qrsy Herr @i+ aer e
S R R C R CO B R R EO | |

arsr wfaer @ fenr firo ya 1 e
2017 A ufer wre T 1,000 &0 9
fpe | (SBI #iorg (@) T 10 wier)

i (xi) Dividend received from 10,000
| Tata Corp., Indian Company

I sl erer st O

viii) Company contributed towards 9,000 pm. i .
(viil) Company co uted te y I e i
Recognised provident fund to

which he made a matching ~ (xii) Interest on Saving bank account 8,800

contribution. - | with Panjab National Bank

T AT ol wd @i | qSTE A Hep & ey @i @

afaey fIfy & A st &ra T ST

39 | .
11 P.T.CQ.

10
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(b)

(@)

Ilustrate Provisions of income tax act
relating to tax treatment of commuted
pension. .

HYCE U B HY ITAR O FrvEd IEHT
AT & U= w1 guiea T |
OR
3TerqT

Raj, a General Manager of Reliable Company
Ltd., retired from the company on 10.8.2017.
At the time of such retirement, his basic
salary was ¥ 70,000 p.m. He was also entitled

to dearness allowance @ 20% of his basic -

salary. 60% of the dearness allowance forms
part of the salary for retirement benefits.
He had worked with the company for 10 years
11 months and 15 days. He got an increment
of T 5,000 in his basic salary w.e.f. 1.2.2017.
At the time of his retirement, the company
paid him a gratuity of $10,00,000. Raj had
carlier worked with S. Company Ltd. [rom
where he had received gratuity and had
availed of an exemption of ¥ 3,00,000.
Compute the amount of exemption available
out of the gratuity received from Reliable
Company Ltd. He is not covered under the
Payment of Gratuity Act. O

12

1204

=1, Rftae e o & memaras, s
10.8.2017 3 =gt & Femay gu ¥ | Ream=

3 99F SR g a9+ < 70,000 9T HTE AT

(b)

3% o3 gu Ja9 @ 20 g @ I A
TEME e oI S o1 | R i &
w7 § gu S a9 H 60 W TR
g T | SR T B W 10 a9 11 "
Ar 15 e et feEm 3 35,000
qEEd I O dad P STEIR WX =%
1.2.2017 & I g3 | RemA=< & T99 F91
I o= T 10,00,000 & UK RAr | T 64
T TH. & [ifes 9 B S ¥
SEr ¥ Sve < 3,00,000 & IUSR 9r< f@Har
g7 Rivmagw ot ™R @ g SusR
(regedl) ® SusEw gE W OTOMT B GT
Ieggd TaHe B A B dod T TG T

Discuss the rules regarding valuation of a

rent free accommodation provided to the
employee by the employer ? S
PR & "R wHeRal @ SuereT HY T
O @A B qeihd B fes @ o
P |

13 P.T.O.
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3.

(@) What are the provisions applicable for 'House

property' when unrealised rent is realised .

subsequently under Income Tax Act, 1961 ?

3

‘ww%’%%ﬁmmﬁrmw%?aa.
AT 5T, e oRifEE, 1961 &

JBd arEdides fRRrar & Siar 2

Mr. Lal, a Chartered accountant, owns a

residential house property. It has four equal.

units. Unit- 1 is self occupied by him for |

residential pﬁrposes, Unit-2 is self oécupied

by him for professional purposes, Units- 3 is

i
|

let out for residential purposes andi

|

Unit- 4 is let out for business purposes. Rent

for Unit-3 is ¥ 12,000 p.m. Rent of Unit-4 is

% 9,000 p.m. This Unit remains vacant for 3

months starting from 01.01.2018 during the

previous year. , .8

14

1204

1o @, =meE umprade uw onaTY WX @iEy
€139 IR sXE) gie ¥ - gfe-1 @ geern
g3 A Y 1@, -2 @ 3= e
ST & R <, gfre-3 #r emeamda sgey
q @1 qur -4 B EEaE g 98T e
Ffre-3 @ e ¥ 12,000 ofy =1 B | gfre-4
w1 fpar ¥ 9,000 ufy #e B Red af 3
aﬁnﬁﬁ?izsm.m.zmsﬁsmz%maﬁz
Tl |

Municipal value of the
property '
giced T @ T S

< 4,00,000 p.a.

Standard Rent < 4,80,000 p.a
SINGEERC IS Co ey

Fair Rental Value < 4,12,000 p.a.
sfoad sfer fewrr ww

Expenditure on repairs : < 24,000
of the property

i % 7o ?g @

15 P.T.Q.
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Interest on borrowed capital: < 1,60,000
(barrowed during 2001 for

construction of this property.

Loan is still outsanding)

SO Il ) =T (@ 2001 F A

S TR @ a9 &g RRm T

S = BT B)

Municipal tax is imposed at the rate of 10%
of Municipal value which is paid by Mr.
Lal.

TR FHEd B AFAR TRF BT S 10
giererd 8, o @@ & &1 39 B

Mr. Lal has Income from % 2,55,000

other sources of

= A d o e @t

ARTa 31

Compute his taxable income for AY 2018-19.
8

ST ad 2018-19 & R HT 3T A B
AT SHIFNTT |

16

1204

OR

SHE|T

(a) Discuss the provisions of section 44AE of the

(b)

Income Tax Act, 1961 regarding computation
of income on estimated basis in the case of
taxpayers engaged in the business of plying,
hiring or leasing of goods carriages. 3
TEEN & BIF, I I@H T A FHET eg
Bl e & &Y o AR
Mot & gue ot eiffm, 1961 &

TFAT 44AE B T BT |

Ms. Jyoti (age 40 Yrs, a resident individual)
furnishes the following information for the

PY 2017-18. 8

o oty (W 40 o, wrig omard) F g
g¥ 2017-18 3 Ry Fy=feRag sT=ear T&d
0

17 | P.T.O.
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Profit and Loss Account for the year ending

March 31, 2018

ad @ otfwa", @™ 31, 2018 & @ @y o

earlier years by

Assessing officer

T & F AR

a3 gL KT W
IO B T

18

|

s @
3 L4
Purchases 2,00,QOO Sales | 15,72,000
Salary, Bonus 440,000 Bad debts 2,000
and Commission recovered
allowed in

Household
expenses
g Hhl Al

Advertisment

ISSIES

Income Tax

HAEART |

Donation to

National defence

fund

T & % 3t a

2,500

1,30,000

1204

Interest on 25,000

Debentures
of RIL Company

cmToem'éoqao
HT B FOTAH

SEERC Ik 2 S
Refund on 1,000

Income Tax

- IR 99

19,000

2,500

19

H AT

Short term 31,000

profit on sale

of Investments

B8ic 999 & Ay
T oIt @y afdr

Gift received 22,000

from father

Rar err ar< asw

B.T.0.
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Life insurance 2,000
premium on life

of assessee

Steq @0 3 8T

MEH S

Gift to 1,50,000
customers

qresh & 39elX
Provision for ‘ Q,OOO
bad debts

T T KT B

o graa=

Depreciation 32,000

20

1204

Contribution 1,00,000
to national lab for
applied scientific
research

STIIgERT I TSt

3 o i o=

H ST

Employer 20,000
contribuﬁon to |
Rcognised

provident fund

Wi ey fifer

& [0 e @

ANTET

Net profit 5,593,000
NI

Total 16,53,000  Total 16,53,000
= | Gl
21

P.T.O.
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| 1204
‘ .
Additional Information : | (ii) Advertisement expenses include a bill of
9819 S - | ¥ 40,000 which is paid through bearer
(1) Salary, Bonus and Commission Include : cheque.
I, T AT FHHINAA WA T | g Tt @ S foe % 40,000 ser B,

| RIY ae A% T AR Rear T
(@) Salary to proprietor X 50,000.

|

\

. (iii) Depreciation u/s 32 is  40,000.
Hifees @ @a+ < 50,000 |

| | TIB™ u/s 32 & T<FIa < 40,000. B
(b) Bonus paid to employeeson 02.11.2018:
| - Compute her taxable income for AY 2018-19.

< 30,000.
| . Slhee a¥ 2018-19 F 1Y ITF HET AT
HHaTE & & 02.11.2018 % |
| H IO FHfTT |
arra 30,000 |
(c) Saiary paid to brother—in—law: 4. (a) Write a brief note on exemption in respect
3 20,000 ; ¥ 5,000 found excessive. | of capital gain arising from the transfer of
FeE H 3T IJad < 20,000 ; T 5,000 residential house property u/s 54 of Income
ST 9T 4T | Tax Act, 1961. 5

29 n3 P.T.O.
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()

@Wwa%w%f%tmwa
T~ Tl F g BN GO STaehT i
1961%@%54%5@%@@%%
Slicid

Mrs. Sunaina Khera (age 69 years, resident

individual) furnishes the following

information pertaining to PY 2017-18. |

Compute her taxable income and tax liability

for AY 2018-19. 6

B gaeT @3 (SE 69 |, ST Fera)
YA 99 2017-18 & wafeq Frefefad |

SAFHIRAT Sl & | e a9 2018-19 & &y
FHed 3T HEIT.W{_E{@E[E!?[TWHTWI

(i) Receives a gift of ¥ 1,20,000 from her

father's cousin.

e % ==} W A o aewr T 1,20,000 |

24

1204

(ii) Purchases a house property from her
close friend, Neha, for X 2,55,000 (stamp
duty value of the property is T 12,00,000).

ISP Ao I AT BT TS T
g % 2,55,000 (@R & &9 g
e 3 12,00,000) |

(iii) Receives ¥ 7,00,000 as Net winnings
from lotteries where tax deducted at

source @ 30%.

el | St gwast ¥ 7,00,000 Ry
HIT 9 FHT A HAM 30 ufyerd @ a7
2|

(iv) Receives Dividend of ¥ 1,00,000 from
Infosys Limited, an Indian Company.
T el el gHRE Rfre
qr<y @rsir < 1,00,000 |

25 P.T.O.
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(v) Receives a rental income of ¥ 20,000
from letting out of furniture (not charged

as business income).

Frea @ ot afyr ¥ 20,000 &, R
FHER R A & (T foeea o
TE 7)

OR
SHEEGT

Rohit Gupta purchased a flat in Ghaziabad

“on 01.07.2002 for ¥ 12,00,000. During June

2010, he gifted the property to his brother

Chetan. However, Chetan passes away in

August 2016 and the property is transfered

through his will in the name of his son

Sumit. Sumit incurred ¥ 1,20,000 during |
2016-17 and ¥ 80,000 during 2017-18 on

the improvement of this property. He sells

26
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the property to Abhay on 12.10.2017 for a
consideration of ¥ 88,00,000. He paid
commission @ 2% to the agent for arranging
this deal. |

Afe = 7 &6 01.07.2002 = MHEEE
¥ wp e < 12,00,000 7 TLaET | ST 2010
$ AR SEY T8 TR oY WE 99 @

SR & w9 F ¥ | HE whg A onTe

2016 ¥ I99 A I8 TERA FIT FEIEHET

% IR 9T oo+ A2 giem & T ) g
W T B e 3g 2016-17 F A
% 1,20,000 @7 2017-18 & A % 80,000
Td ATt 399 3@ gaig @ RAEim
12.10.2017 =t &1+ & =it T 88,00,000
I BT IEN @ e B Ry 2 ufed &
HHAT Tolve Hr R

27 : P.T:0.
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He utilised the net sale proceeds as follows :

I R ¥g e AToeTs oTued

(i)

(i1)

(iii) Subscribed units of Notified Mutual funds

|
Purchased Rural Electrification’:

Corporation bonds worth ¥ 8,00,000 on
22.12.2017.

1204

Compute the taxable income of Sumit (age
47 years) for AY 2018-19.
St ad 2018-19 & Ry gha (SF 47

aﬁ)%ao-@uama%ﬂwaﬁﬁﬂll

R 22.12.2017 3t ¥ 8,00,000 T 3T
frgefteer e sos Erde | i

Purchased a residential house propertyl
in NOIDA for ¥ 35,00,000 on 05.01.2018.

R 05.01.2018 I STeT T T AT
g % 35,00,000 =1 @I |

(Equity Linked Savings Scheme) worth
¥ 1,95,000 0n 11.02.2018.

f&sies 11.02.2018 & T 1,95,000 & =T
%Y (Equity Linked Savings Scheme) &
LR |

28

PY | Cost inflation Index
NACIEEER gd gET THIRA arieresT
2001-02 : ' 100
2002-03 105
2009-10 148
2010-11 167
2016-17 264
2017-18 7

| _<018-19 280
11
29 P.T.O.
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S.

(a) Explain the provisions relating to clubbing of
income of a minor child U/s 64(1A) of Income

Tax Act, 1961. ‘ 6

|
|

STIHT AAFIH, 1961 B T 64(1A) %

MY 9 STIIEH g9 hl STIHT | SNSH &

Fradt a9 sare i | |
(b) Briefly discuss the judgement delivered by
Hon'ble Supreme Court in the case Philip

John Plasket Thomas vs. CIT regarding

clubbing of income. 5

REfTg S <iie o a a9 dlosTgodlo &
A A gEE i & et wr |

T HY |

30

1204

OR

HECAr

(a) Discuss the provisions of section 71 of the

Income Tax Act,1961 regarding set off of loss
from one head against income from another
head. 6
w BT & o T g 8K A e ()
Tl ofrEeRY STfaMEH, 1961 & e 71
& o & Riftag ==t &%

- (b) M/S. Rama Krishna & Co., is a firm carrying

on business. It has business income of
¥3,60,000. It has paid interest to the partners
@ 15% p.a. amounting to ¥ 1,50,000 which
has been debited in the profit énd loss
account,

Compute the interest and

I€muneration allowable to the partners.

31 P.T.0.
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Bo T =1 we HH q g ¥ ThH
®H FETET | 39 FEAE @Y oy T 3,60,000
8| g8 3TUN WIHRIC &I 15 uidera ande st
W & Igar X 1,50,000 =&1<T & @9 H I«
& | TS B A A iy (sATT) O R
B T AR

32 8400
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fropft : w0y T @1 I IS A fet et ww e -
' 4 difor; afeR @t ST w1 A ww & R
~ wfew
Attempt all five questions.

Question 1(a) is mandatory for all.

qyt uta weE &AL
9 (&) @it & fau sifer ?
I (a)  Voltas has been manufacturing and marketing Air

conditioners for a long time in India. Recently the

P.TO.



®)

(2) 1205

company entered into Joint venture coHaboration with

a well known British multinational corporation. Among

the major objectives of the joint venture included’

technology upgradation and productivity improvement.
The company was currently estimated to be not 0niy

highly over-manned, but inefficiencies of various kinds

have also been noticed. More than 2,000 employees of

the company are unionized and most of the union leaders
appear to be against the introduction of any change in

the technology.
Questions :

()  As a General Manager, would you suggest Human
Resource Planning at this stage to deal wfth the

problems ?

(/i)  What steps should be initiated to ensure the success

of this joint venture .2 . 8~

“Planning is meaningless without control and control is -

aimless without planning.” Explain. ' 7

-Or

Discuss various techniques of control, as may be used

in an industrial enterprise. 7

(3) 1205

(%) mmﬁaﬂmﬁwmﬁﬁmﬁﬁm

3i faguE @ ¥ T € 3wt 7 @ o
fifewt T Frm @ e GgF JE wEA
ﬁmm%aﬁgﬁm%g@@ﬁw

w1 oSt g aﬂz_wmﬁgmwﬁa%n

Fqt # 7 Pad 3@ G Afusw Al FH
® ¥ Wy 3 faf weR #t oRead o e
T ¥ FT B 2,000 ¥ feem FHER gFE |
it & 3R sfussien gfem A deifet 4 fae
TER B TR @ ® feers wda @ €

e

() TEEEEE F T H AW T IHI HAA
T ST W wEned B gemn |
TR B8 ?

() T TR ST RN A R
Eﬁﬁﬂaﬁﬂ%msaﬁaﬁq ?

(@) "SR FEE & e eiE ¥ el frim wik

IESA F REE T wEm Ffw)

PTO. .



(4) 1205
e
i w3 fafe awe @ feEm i
Tt Sieifes 3em d AW f& ST 9war ¥

(@) “Management is the art of muddling through the
situations.” Comment upon this statement while

discussing the features of contingency approach. 8

() “Management is the effective utilization of human and
material resources to achieve the enterprise’s objectives.”

Comment. ) 7

(F) ‘W,Wﬁmmwﬁw
%n”awm%ﬁaﬁﬁqaﬂtmﬁmw
+ fdwael @ e Hif)

(@) “gay, W a%sz?r WS @ fog T

qen it TEreE &1 gt 39an e g1 feoroit |

Ediig
or

(3rerem)

(@  “Each of the managerial functions is an exercise in

coordination.” Comment on this statement. 8

(5) 1205
()  “Managerial environment in future is going to be more

challenging, requiring high degree of professionalization

from managers.” Comment. 7
(%) "“Feund FE § A 9%, T R F enam
B ®1" 3 wed W fewd @i
(@) “sfsa § g wHeRw fw S 93
aren © e fau gevsl @ s=w S 3
IR P EvERdr 17 feoht wifew)

(a) “Deiegation provides the means whereby a manager

multiplies himself.” Comment. 8
(b))  Write notes on :

(1)  Functional Organization 4

(@  Decentralisation _ 3
(%) "TERESE TE lE Sa RS T yeae

R AT R A 3 e i
(@) feufrat fafeu .

(1) wATS T

@ Tomsteon

PTO.



(6) 1205

Or

(3r=m)

(@) What problems are created by informal groups for the
organisation ? How should management deal with such

gr(;ups ? 8
(b)) Write notes on :

(1) Matrix Organisation | | 4

(2) Network Structure. 3

(%) 9T B fau sEvaRe 9qE SAdE gHend
Y w@ § 2 W T A WEU w RS
ey 2 |

(@) fexforr fafew

o A e
@ ATH GEAII
Write detailed notes on any two ‘ 215

(@) SWOT Analysis
(b)) BCG Matrix

(© Strategic Planning.

(7) S
et % 4 e @ W wfer feomdt ey ;o
(+) SWOTW
(@) BCG A
(m) i s
| | Or

(e

(@) What are the features of Decision Support System ?
Differentiate between Decision Support System and

Management Information System. 8

(6) “No enterprise can achieve ‘its objectives without
systematic planning.” Do you agree with this statement ?

Also »d?scuss limitations of planning. 7

(%) frofa wmd yomelt =1 fdread w=T ¥ 2 frolg

T yoedt sl TS I YOeR §  ofw
EniEndl ‘

(=) “ﬂﬁiﬁﬁmaﬂzmﬁmm%aﬁﬁgﬁ

ﬂﬁmqﬁwml"wmwmﬁm
¥ ?‘mﬁmqraﬁaﬁsﬂﬁaamﬁm.

PTO.



(8) 1205
Write notes on any three : 3x§
(@) Informal Communication

(b) Managerial Grid

(¢) Critical Path Method

1205

d) Return on lnvestment

frafafen ﬁ 3 W ?ﬁ? = ﬁ."UTFUI'qT ﬁlf@!‘l
(®) ﬁwﬁm w |
(@) veusa firs |
(M) ifee W faf
() o e e

o o

(oo

(@  “Leaders are bom and not made” Comment. 8

() “Theory zZ is a comprehens"iv"e philosophy of

management Elumdate this statement - 7
(Eﬁ) “ﬁmmﬁm@%%m‘—lﬁaﬁl" %mruﬁaﬁﬁﬁn

(@) “mzmmmaﬁa%l"mwﬁ
e it |
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